MONT BELVIEU PROPANE FUTURES - 3/7/23 CLOSE

MONT BELVIEU LDH PROPANE (OPIS) FUTURES - SETTLEMENTS

TRADE DATE TUESDAY 07 MAR 2023 *

FINAL DATA 0

Last Updated 08 Mar 2023 12:45:00 PM CT

ESTIMATED VOLUME TOTALS 6,355

PRIOR DAY OPEN INTEREST TOTALS 137, 199

MONTH	OPEN	HIGH	LOW	LAST	CHANGE	SETTLE	EST. VOLUME	PRIOR DA
MAR 23	-	-	-	-	03096	.87745	0	19,266
APR 23	-	-	-	-	03750	.86667	3,306	14,857
MAY 23	-	-	-	-	03459	.86458	840	10,063
JUN 23	-	-	-	-	03292	.86583	564	9,481
JLY 23	-	-	-	-	03209	.86833	329	9,997
AUG 23	-	-	-	-	03125	.87333	205	9,773
SEP 23	-	-	-	-	02958	.88250	165	8,941
OCT 23	-	-	-	-	02833	.89292	257	9,525
NOV 23	-	-	-	-	02875	.90083	257	9,761
DEC 23	-	-	-	-	02917	.90375	237	10,793
JAN 24	-	_	_	_	02958	.90250	35	3,609

ENTERPRISE TE PRODUCTS PIPELINE FERC TARIFF 54.64.0 - RATES EFFECTIVE 3/1/2023

RATES (In Cents-per-bbl.)

[I] All rates are increased.

ITEM NO. 135

Non-Incentive Rates for Propane

	Origin				
Destination	Floreffe Junction (Allegheny Co., PA)	Mont Belvieu (Chambers Co., TX)	Tappan Lake (Harrison Co., OH), Todhunter (Butler Co., OH) & Follansbee (Brooke Co., West Virginia)		
Coshocton (Coshocton Co., OH)	••	796.08			
Dexter (Stoddard Co., MO)	••	378.26	••		
Du Bois (Clearfield Co., PA)	427.60 (1)(2)	883.77 (1)	427.60 (1)		
Fontaine (Green Co., AR)		355.36			
Greensburg (Westmoreland Co., PA)	427.60 (1)(2)	834.05 (1)	427.60 (1)		
Harford Mills (Cortland Co., NY)	600.82 (1)	942.62 (1)	625.52 (1)		
Lebanon (Boone Co., IN)		446.09 (4)	••		
Oneonta (Otsego Co., NY)	650.39	1018.54 (1)	671.38 (1)		
Princeton (Gibson Co., IN)		485.59			
Schaefferstown (Lebanon Co., PA)	630.46 (2)	952.75	622.11		
Selkirk (Albany Co., NY)	705.66	1083.00 (1)	707.50 (1)		
Seymour (Jackson Co., IN)		423.90			
Sinking Spring (Berks Co., PA)	630.46 (2)	952.75	622.11		
Todhunter Truck Terminal (Butler Co., OH)		713.33			
Watkins Glen (Schuyler Co., NY)	578.31 (1)	894.42 (1)	604.58 (1)		
West Memphis (Crittenden Co., AR)	-	378.26 (4)			
Monee (Will Co., IL)		1604.61 (7)			

Northern Gas Transport, Inc. Box 106 Lyndonville, VT 05851-0106 1-800-648-1075 FAX: 802-626-5039

February 14, 2023

To: All Customers

Re: Fuel Surcharge Notice

As of Monday February 13, 2023, the Department of Energy New England average price per gallon of diesel fuel was \$5.054. All deliveries invoiced from Sunday, February 19, 2023 through Saturday, February 25, 2023 will be line item assessed at 28.5% fuel surcharge. Thank you and should you have any questions, please contact Renee Young at 1-800-648-1075 extension 221.

Best Regards,

Renee Young Billing Specialist

Northern Gas Transport Inc. - Selkirk to Keene

Fuel								
	Base	Base	Surcharge		Total	Total Rate		
Gallons	Rate	Charge	Rate	Surcharge	Charge	Per Gallon		
9,200 9,200	\$0.0891 \$0.0891	\$819.72 \$819.72	1.00% 2.00%	\$8.20 \$16.39	\$827 92 \$836.11	\$0.0900 \$0.0909		
9,200	\$0.0891	\$819.72	2.50%	\$20.49	\$840 21	\$0.0909		
9,200	\$0.0891	\$819.72	3.00%	\$24.59	\$844 31	\$0.0918		
9,200	\$0.0891	\$819.72	3.50%	\$28.69	\$848.41	\$0.0922		
9,200	\$0.0891	\$819.72	4.00%	\$32.79	\$852 51	\$0.0927		
9,200	\$0.0891	\$819.72	4.50%	\$36.89	\$856 61	\$0.0931		
9,200	\$0.0891	\$819.72	5.00%	\$40.99	\$860.71	\$0.0936		
9,200 9,200	\$0.0891 \$0.0891	\$819.72 \$819.72	5.50% 6.00%	\$45.08 \$49.18	\$864 80 \$868 90	\$0.0940 \$0.0944		
9,200	\$0.0891	\$819.72	6.50%	\$53.28	\$873 00	\$0.0949		
9,200	\$0.0891	\$819.72	7.00%	\$57.38	\$877.10	\$0.0953		
9,200	\$0.0891	\$819.72	7.50%	\$61.48	\$881 20	\$0.0958		
9,200	\$0.0891	\$819.72	8.00%	\$65.58	\$885 30	\$0.0962		
9,200	\$0.0891	\$819.72	8.50%	\$69.68	\$889.40	\$0.0967		
9,200	\$0.0891	\$819.72	9.00%	\$73.77	\$893.49	\$0.0971		
9,200 9,200	\$0.0891 \$0.0891	\$819.72 \$819.72	9.50% 10.00%	\$77.87 \$81.97	\$897 59 \$901 69	\$0.0976 \$0.0980		
9,200	\$0.0891	\$819.72	10.50%	\$86.07	\$905.79	\$0.0985		
9,200	\$0.0891	\$819.72	11.00%	\$90.17	\$909 89	\$0.0989		
9,200	\$0.0891	\$819.72	11.50%	\$94.27	\$913 99	\$0.0993		
9,200	\$0.0891	\$819.72	12.00%	\$98.37	\$918 09	\$0.0998		
9,200	\$0.0891	\$819.72	12.50%	\$102.47	\$922.19	\$0.1002		
9,200	\$0.0891	\$819.72	13.00%	\$106.56	\$926 28	\$0.1007		
9,200 9,200	\$0.0891 \$0.0891	\$819.72 \$819.72	13.50% 14.00%	\$110.66 \$114.76	\$930 38 \$934.48	\$0.1011 \$0.1016		
9,200	\$0.0891	\$819.72	14.50%	\$114.76	\$934.46 \$938.58	\$0.1010		
9,200	\$0.0891	\$819.72	15.00%	\$122.96	\$942 68	\$0.1025		
9,200	\$0.0891	\$819.72	15.50%	\$127.06	\$946.78	\$0.1029		
9,200	\$0.0891	\$819.72	16.00%	\$131.16	\$950 88	\$0.1034		
9,200	\$0.0891	\$819.72	16.50%	\$135.25	\$954 97	\$0.1038		
9,200	\$0.0891	\$819.72	17.00%	\$139.35	\$959 07	\$0.1042		
9,200	\$0.0891	\$819.72 \$819.72	17.50%	\$143.45 \$147.55	\$963.17	\$0.1047 \$0.1051		
9,200 9,200	\$0.0891 \$0.0891	\$819.72	18.00% 18.50%	\$147.55 \$151.65	\$967 27 \$971 37	\$0.1051 \$0.1056		
9,200	\$0.0891	\$819.72	19.00%	\$155.75	\$975.47	\$0.1060		
9,200	\$0.0891	\$819.72	19.50%	\$159.85	\$979 57	\$0.1065		
9,200	\$0.0891	\$819.72	20.00%	\$163.94	\$983 66	\$0.1069		
9,200	\$0.0891	\$819.72	20.50%	\$168.04	\$987.76	\$0.1074		
9,200	\$0.0891	\$819.72	21.00%	\$172.14	\$991 86	\$0.1078		
9,200	\$0.0891	\$819.72	21.50%	\$176.24	\$995 96	\$0.1083		
9,200 9,200	\$0.0891 \$0.0891	\$819.72 \$819.72	22.00% 22.50%	\$180.34 \$184.44	\$1,000 06 \$1,004.16	\$0.1087 \$0.1091		
9,200	\$0.0891	\$819.72	23.00%	\$188.54	\$1,008.26	\$0.1096		
9,200	\$0.0891	\$819.72	23.50%	\$192.63	\$1,012 35	\$0.1100		
9,200	\$0.0891	\$819.72	24.00%	\$196.73	\$1,016.45	\$0.1105		
9,200	\$0.0891	\$819.72	24.50%	\$200.83	\$1,020 55	\$0.1109		
9,200	\$0.0891	\$819.72	25.00%	\$204.93	\$1,024 65	\$0.1114		
9,200 9,200	\$0.0891 \$0.0891	\$819.72 \$819.72	25.50% 26.00%	\$209.03 \$213.13	\$1,028.75 \$1,032.85	\$0.1118 \$0.1123		
9,200	\$0.0891	\$819.72	26.50%	\$217.23	\$1,032 05	\$0.1127		
9,200	\$0.0891	\$819.72	27.00%	\$221.32	\$1,041 04	\$0.1132		
9,200	\$0.0891	\$819.72	27.50%	\$225.42	\$1,045.14	\$0.1136		
9,200	\$0.0891	\$819.72	28.00%	\$229.52	\$1,049 24	\$0.1140		
9,200	\$0.0891	\$819.72	28.50%	\$233.62	\$1,053 34	\$0.1145		
9,200	\$0.0891 \$0.0891	\$819.72	29.00%	\$237.72 \$241.82	\$1,057.44 \$1,061 54	\$0.1149 \$0.1154		
9,200 9,200	\$0.0891	\$819.72 \$819.72	29.50% 30.00%	\$245.92	\$1,065 64	\$0.1154 \$0.1158		
9,200	\$0.0891	\$819.72	30.50%	\$250.01	\$1,069.73	\$0.1163		
9,200	\$0.0891	\$819.72	31.00%	\$254.11	\$1,073 83	\$0.1167		
9,200	\$0.0891	\$819.72	31.50%	\$258.21	\$1,077 93	\$0.1172		
9,200	\$0.0891	\$819.72	32.00%	\$262.31	\$1,082 03	\$0.1176		
9,200	\$0.0891	\$819.72	32.50%	\$266.41	\$1,086.13	\$0.1181		
9,200	\$0.0891	\$819.72	33.00%	\$270.51	\$1,090 23	\$0.1185		
9,200 9,200	\$0.0891 \$0.0891	\$819.72 \$819.72	33.50% 34.00%	\$274.61 \$278.70	\$1,094 33 \$1,098.42	\$0.1189 \$0.1194		
9,200	\$0.0891	\$819.72	34.50%	\$282.80	\$1,090.42	\$0.1194		
9,200	\$0.0891	\$819.72	35.00%	\$286.90	\$1,106 62	\$0.1203		
9,200	\$0.0891	\$819.72	35.50%	\$291.00	\$1,110.72	\$0.1207		
9,200	\$0.0891	\$819.72	36.00%	\$295.10	\$1,114 82	\$0.1212		
9,200	\$0.0891	\$819.72	36.50%	\$299.20	\$1,118 92	\$0.1216		
9,200	\$0.0891	\$819.72	37.00%	\$303.30	\$1,123 02	\$0.1221		
9,200	\$0.0891 \$0.0891	\$819.72 \$819.72	37.50% 38.00%	\$307.40 \$311.49	\$1,127.12 \$1,131 21	\$0.1225 \$0.1230		
9,200 9,200	\$0.0891	\$819.72 \$819.72	38.00% 38.50%	\$311.49 \$315.59	\$1,131 21	\$0.1230 \$0.1234		
9,200	\$0.0891	\$819.72	39.00%	\$319.69	\$1,139.41	\$0.1238		
9,200	\$0.0891	\$819.72	39.50%	\$323.79	\$1,143 51	\$0.1243		
9,200	\$0.0891	\$819.72	40.00%	\$327.89	\$1,147 61	\$0.1247		